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Water Worksheet

Ch 2
1.
Why is water not considered to be organic?
2.
Atoms in which type of molecule ‘share electrons’?
3.
The situation described in Question #2 does not, however, apply to water.  Explain?

4.
Having answered question #3, you should be able to describe the type of charge on (a) hydrogen atoms

(b) the oxygen atom.
5.
Why does hydrogen bonding occur between water molecules?
6.
What does the ∂ symbol mean?
7.
Why is there a dotted line between the oxygen atom and the hydrogen atom in the diagram below?  (two reasons)

[image: image1.wmf]H

¶

+

H

¶

+

O

¶

-

H

¶

+

H

¶

+

O

¶

-


8.
Although weak, this type of bond causes water molecules to stick together.
9.
Without the type of bond (mentioned in #8) between water molecules, life would be impossible.  List 2 facts that would support this statement.
10.
Which of the following statements are true?


(a)
Water is a liquid at body temperature.


(b)
Water absorbs a great deal of heat before it evaporates.


(c)
Water gives off heat as it cools down and freezes.
11.
Give two statements which support your answer for #10.
12.
What factor of water allows it to fill tubular vessels?
13.
Give two statements that support the fact that water is an excellent transport medium.
14.
(a)
Because of hydrogen bonding, liquid water takes on this characteristic in comparison to ice.

(b)
Which three statements support this fact?
15.
Water, being a ______________ molecule, acts as a solvent and ______________ various chemical substances, particularly other ______________ molecules.  This property of water greatly facilitates __________ __________ in ______________.

Biology 12

Answers for Water Worksheet

choose from the following statements

*
Lakes freeze from the top down.

*
Water would freeze at -100˚C.

•
partial

•
In water, the electrons spend more time circulating the oxygen atom than the smaller hydrogen atoms.

•
Hydrogen

*
cohesiveness

•
slight negative charge

•
The bond is weak.

*
Helps to keep an animal’s body temperature within normal range.

•
It does not contain carbon.

*
Water would boil at -80˚C.

•
covalently bonded

*
It distributes substances.

•
Partially positive hydrogen is attracted to partially negative oxygen.

•
The bond is easily broken.

•
cells

•
chemical reactions

•
polar

*
It is more dense.

•
slight positive charge

*
It accounts for the cooling effect of sweating.

*
It helps to move heat throughout the body.

•
dissolves

*
Ice floats on liquid water.

•
polar

•
This protects the organisms below.

